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RATIO & PROPORTION TEST

In a bag there are coins of 25 p, 10 p and 5 p in the ratio of 1: 2 : 3. If
there are Rs. 30 in all then the number of 5 p coins are

a. 200 b. 30 c. 150 d. 250

QM ewuulled 25 emusT, 10 OUSFT, 5 MUIFT SHTHB6IT 2 _6T6Nel.  ieumnsledn
aldlgwrarg (wompGuw 1 : 2 : 3, enuulled o slen OLOTSHS HT&S66 OS]
ah. 30 eTedlled, SIHH ewLUTeL © 66l 5 MUFT SHTGHDH6II6H 61601601 HNDH

a. 200 b. 30 c. 150 d. 250

Golden ratio 1 : 1.6 forms a proportion with x : 8 then value of x is

a.b5 b.3 c.2 d. 1

Fhid aldseweniupbn 1: 1.6 g X : 8 s aldssai e @m alds
FIHMS DIMSHBSHI 616360 X-60T LOGILIL]

a.5 b.3 c.2 d.1

The income in 3 months of a person is same as his expenditure in 4
months. If his annual saving is I 600. What is his monthly income?

a.< 200 b. X 250 c.<X 300 d. ¥ 600

Q(H el e cpeiiyl TEH UHLTERID Dleuflel BTG WWIEH FevaHE &L
aelled  SlaumenLwl  eupL  CGFolly  @p.600 B BHHIHT0  Deufledt  LOTH
QU(HLOTEUTLD  6T61IGI6TT6) 7

a.< 200 b. % 250 c. < 300 d.< 600
Ifa:b=2:3,b:c=5:7thena:b:cis

a.10:21:15 b.15:10:21

c.10:15:21 d.21:10:15
a:b=2:3,b:c=5:7 aafled a:b:car wHi

a.10:21:15 b.15:10:21

c.10:15:21 d.21:10:15




If(@a+b):(b+c):(c+ta)=7:8:9,finda:b:c.

a.7:8:9 b.9:8:7 c.5:3:4 d.4:3:5
(@+b):(b+c):(c+ta)=7:8:9,aale0 a:b:cer wFHly
a.7:8:9 b.9:8:7 c.5:3:4 d.4:3:5

f h éﬁ’g‘ 1

IfA:B:C= 234tenBC-Alsequato.

a.8:9:16 b.8:9:12 c.8:9:24 d.4:9:16

. ABC

A:B:C=2:3:4, aaied BC-AGMLDQ)‘TUH

a.8:9:16 b.8:9:12 c.8:9:24 d.4:9:16
13 15 53

IfA:B= 23" B:C= 39 and C: D—6 4 then the ratio A: B:C:D

is:

a.6:4:8:10 b.6:8:9:10

c.8:6:10:9 d.4:8:6:10

Divide Rs 7500 among A, B and C such that A's share is to B's share is in
ratio 5 : 2 and B's share is to C's share is in the ratio 7 : 13. How much will
be B receive?

a. Rs. 1500 b. Rs.1400 c. Rs. 2,000 d. Rs. 2,500

a.7500 = A, B, C &g Uissalssiiubdns. A wppid B uler umig
aldsd 5 : 2, B iopp C wear ukg eoldsd 7 @ 13 eaefled B GQupid
LRI SH0SHTend  6T6ieU616) 7

a. Rs. 1500 b. Rs.1400 c. Rs. 2,000 d. Rs. 2,500

The least whole number which when subtracted from both the
terms of the ratio 6:7 gives a ratio less than 16:21 is

a.2 b.3 c.4 d.6

6:7 aldpHHe0 B o miiseilelmbaid SWssILGID Qumipg 16 :
21 dd5dane Gopatar gn ddssosd soL B5AD VW
6T6U0T

a.2 b.3 c.4 d.6




10.

11.

12.

13.

14.

A and B enter into a partnership. A invests Rs.4,000 for 8 months and B
Rs.6,000 for 4 months. What will be A’s share in a total profit of Rs.3,500?
a. 2000 b. 1500 c. 700 d. 2800

Aupp, Buyp &' @ elwmumyd Gauidlement. A 4,000 8 rgmhiseEpsEHd, B
.6,000 & 4 wIsEBEHEGD (WHSG OFuidamet.  @.3500  &eoTuibd
FHMLSHHT6L OiFe0 Aullenr LG eT6\I6U6TT6Y ?

a. 2000 b. 1500 c. 700 d. 2800

A and B have monthly incomes in the ratio 5 : 6 and monthly expenditure
in the ratio 3 : 4. If they save Rs. 1800 and Rs 1600 respectively. The
monthly income of B is

a. Rs 3400 b. Rs 2700 c Rs 1720 d Rs 7200

A ppid B uller worseumorer  eldsd  (pemmGuw 5 ;6 Bpid  GFeve]
@z wepBu 3 : 4. A ear wrge Gxoy 1800, B a1 wwre Gy
a.1600 eiafled B &1 10T eU(HLOTEID 6T6laIeT6Y?

a. Rs 3400 b. Rs 2700 c Rs 1720 d Rs 7200

What is the missing number in the proportion? 4 : 13 :: 64 :

a. 168 b. 198 c. 208 d. 228
CaTheHsILULL aldsHHHed alBulL erewr wrg? 4:13:64 :
a. 168 b. 198 c. 208 d. 228

Two number are in the ratio 3 : 5. If 9 is subtracted from each, the new
numbers are in the ratio 12 : 23. The smaller number is:

a.27 b. 55 c. 49 d. 33

Brewi® elewideienn alFHD 3 : 5. @eubeun(h eTewienlel(HbhH 9-83 BHINSHESID
Cural SoLsGd UHw eldsorargd 12 : 23 eefled Sl eTewtenenid
SHITEHI

a. 27 b. 55 c.49 d. 33

In a mixture of 100 litres, the ratio of milk and water is 3 : 2. If this ratio is
to be 2 : 3, then the quantity of water to be further added is...

a. 50 litres b. 100 litres c. 80 litres d. 180 litres

100 UL &Hevemeuulled LITeL BMID Hewienifler al&dlpd (wedpBw 3 : 2 &
BmbHEH. BUOLTIad Fev eILLT GHewiewiT GCFTHalULLLIBE DIH6T alHHD
WwopGw 2 3 o5  TBISBEH  eelled  eleuaueTey  60LLIT  SHewTeuiT
Gairébsliu’ L g)?

a. 50 e LT b. 100 et Lt c. 80 O LiT d. 180 &L i
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16.

17.

18.

19.

20.

Salaries of Ravi and Sumit are in the ratio 4:1. If the salary of each is
increased by Rs.3000, the new ratio becomes 3 : 2. What is Sumit's salary?

a. Rs. 400 b. Rs. 500 c. Rs. 600 d. Rs.30

gal wB@ID &GP oagul alFHd 4 1. DUTH6T eICeUT(HEUHBHEGLD
5.3000 eaglul o uwie] SeMébslUBGLBUTEH oagsHu aldlswomeaigd 3 : 2 &
LOTBISBS 6Tele0 SLOlHHleT 2amgluid eleileuene]?

a. Rs. 400 b. Rs. 500 c. Rs. 600 d. Rs.30

The cost of 3 horses is same as the cost of 5 cows. If total cost of 4 horses
and 6 cows is T 1900, find the cost of one horse
a.3 50 b.% 150 c.3 200 d. ¥ 250

3 GFHorsaiar alemev, 5 uUsSHellal almevd@®Hs FWIGWL. 4 GSHmIHel
LBOID 6 ussbseler OTshs alemev h.1,900 eeled, @ GHmyuller alened
616016017

a.X 50 b. 150 c.< 200 d. < 250

If(@a+b):(b+c):(c+ta)=5:7:3and (a + b + c) =25, then the value of b
is .
a.25 b. 10 c.. 12 d. 35

(@+b):(b+c):i(cta)=5:7:3wBmb (a+b+c)=25 aaied b-e1 wHy
a.25 b. 10 &5 d. 35

If x : y =5:2then find [8x + 9y] : [8x + 2y]

a.22:29 b. 26 : 61 c.29:22 d. 61:26
x:y=5:2aaile0 [8x+9y]:[8x+2y] e smewr.
a.22:29 b. 26 : 61 c.29:22 d. 61:26

: . 123 :
Three numbers are in the ratlozigiz . The difference between the greatest
and the smallest numbers is 36. The numbers are:
a.72,84,108 b. 60,72,96 c.72,84,96 d. 72,96,108

1 23

CLPGIIM|  6T6U0TEH6IT E?Z aep  alBlHHHe0 2 eleniel. GHMBHSLLF LOBBID

DFHBLLE  eTanIBEHHGH GenLuleorer alSHHWTFID 36 6leled, DfbFH 6I60TH6IT
61631(0\60T60T60T ?
a.72,84,108 b. 60,72,96 c.72,84,96 d. 72,96,108

What number should be added to each 6, 14, 18 and 38 so that the
resulting numbers make a proportion?
a. 1 b.2 c.3 d. 4




21.

22.

23.

24.

25.

26.

ﬁfﬂr\m ‘
’ LRI
6, 14, 18 1oBmIb 38 SuFlUl cIWIHEHL6T  6lhSH  elewienewF CFTHhHTev,
SHMLSGLD 6160IH6IT @(h LIMISTSH 6U(HLD?

a. 1 b.2 c.3 d.4
4
A fraction in its lowest terms can be expressed as 17 If its numerator and
denominator differ by 91, find its numerator
a.”7 b.13 c. 52 d. 28
4

R UadiandHmsd DiS@imLul 0SS GHOBbHS 6lgedHaHe0 17 eIl GMILILIL

(PRQUD.  IH@IML U LGS WBpIb algs oHu BeasihédGl Ren G 91
AlHHWTFD S(HHSHTE0, DIHIML U LiGHenuld HewiBLIGSSALD.
a.”7 b. 13 c.52 d. 28

The third proportional to (x? - y?) and (x + y)is...

a. — b. —= G D 4 &-»
(x+y) (x=y) (x=Y) (x+)

(x2-y?) BoIb (X +y) e cpaiBraugs aldd swer 61%51?

a. — b. —= ¢, &ty 4. &=y
(x+y) (x=Y) (x=y) (x+y)

The fourth proportional of 6, 11 and 12 is

a. 29 b. 23 c.72 d. 22
6, 11 1oB@ID 12 SuPlul 6T6wIHeT6 HTTHTIH MBHTFFNT 61600 617
a. 29 b. 23 c.72 d. 22

If x2 + 9y? = 6xy, then x : y is...

a. 3:1 b. 1:3 c. 1:9 d. 9:1
x2 + 9y? = 6Xy 6lafled X : Y &1 DI STemish
a. 3:1 b. 1:3 c. 1:9 d. 9:1

Find the ratio form of 4 years to 8 months

a.4:8 b.8:4 c.1:2 d.6:1
4 QUBHLMEISEHSGD 8 THHBEHHSGHD Bl G Suer aldlsh eugeud eTeitenr?
a.4:8 b.8:4 c.1:2 d.6:1

I have a box which has 3 green, 9 blue, 4 yellow, 8 orange coloured cubes
in it.

a. What is the ratio of orange to yellow cubes?

b. What is the ratio of green to blue cubes?




27.

28.

29.

c. How many different ratios can be formed, when you compare each
colour to any one of the other colours?

Aa) B  (©

3:1 1:2 10 ratios

1:3 2:1 4ratios

1:2 3:1 12ratios

.21 1:3 12ratios

oTedteulIL (6o @ O Iguiled 3 uFewg, 9 Heod, 4 EHF6T, 8 DJEhg elenr 24

QUGNTENTSH BT FHIJRIBET 2 _6IT61T60T. 6160160

a. SJEhd LOBBID LOEHF6NT HFFHITHIH6T6T SFHLD 6T6s16017

b. uFmF WHBEID BevlD BETFFHITEIB6TE IS B 6T68T6H?

C. @@ oUINIHMS BB euewienbECaTG Ul G aHHmer al&HhigH6l
SITERI6VTLD?

(A) B  (©

3:1 1:2 10 ratios

1:3 21 4ratios

1:2 3:1 12ratios

21 1:3 12ratios

o0 o

an o

A mixture contains alcohol and water in the ratio 4: 3.If five litres of
water is Added to the mixture, the ratio becomes 4: 5. Find the quality of
alcohol in the given mixture.

a. 2.5 litres b. 12 litres c. 12.5 litres d. 10 litres

R  sevemauuled  SreodamTeld  Hewtewihd 4 3 eldsHHHevieierne.
SIHHMAUUL T 5 ILLT Hewewiewy GaFTdh@d Ourupsl, eoldsd 4 : 5
AFHBHI. HILILL (BH6Ten Heveneuulsd SHLELHABTEVIET DIeTEN6UDH HIT6HISH.

a. 2.5 e LiT b. 12 a0 LiT c. 125 a9 it d. 10 a9 LiT

Two angles are in the ratio 4 : 9 and their supplementary angles are in the
ratio 8 : 3 then the two angles are respectively

a. 60,135 b. 30, 80 c. 40,90 d. 80, 30

Brewih CamewimideT 4 : 9 a@ip alPFHHID DBl s BTG
Carewmiset 8 : 3 6B alPHHIHID o sitenien elafled SisalH CahmemtmiSH6IT
(pempGw

a. 60,135 b. 30, 80 c. 40,90 d. 80, 30

If the ratio formed using the numbers 2, 5, x, 20 in the same order are in
proportion then x is.
a. b0 b.4 c. 10 d.8




30.

alFHhseT aldlgd Fwowres Spliier x=?
a. 50 b. 4 c. 10 d.8

In a mixture of 60 L the ratio of acid and water is 2: 1. If the ratio of acid
and water is to be 1:2 then the amount of water in (litres) to be added to
the mixture is

a. b5 b. 60 c. 50 d. 45

60 LT Hevenauuled IOVGHHBSGHID BHBGHOmLBCu 2 6ten aldlsd 2: 1
SGD.  OPSHBSGHL HHEGWmLOW o sten  alFHHms 112 E®
GouemiBLomeniTeL, Hevenaluley BFTohs Geuewiigul Hewrewifler iee] (VL L fle0)

a. b5 b. 60 c. 50 d. 45




